MAJOR DEFINITIONS FROM LAST SEMESTER

[Definition: Outer measure] Let A C R. The outer measure |A| of A is defined to be

o0 (oo}
|A| = inf{Zl(Ik) : Each Iy is an open interval and A C U Ik}.
k=1 k=1
[Definition: o-algebra] Let X be a set. Let S be a collection of subsets of S. We say that (X, S) is a measurable
space if:
e 0cS,
o If Ec S, then X\ E €S,
o If {E,}°, C Sthen Uro, Ex € S.
We call the elements of S measurable sets.
[Definition: measure] Let X be a set. Let S be a o-algebra on X. We say that p is a measure on (X, S) if:
o 1:S—[0,00]
o u(0)=0.
o If {E,}%°, C S is a sequence of pairwise-disjoint subsets of X then M(Uf’:l Ek) =3 2, w(Ex).
We call (X, S, 1) a measure space.

[Definition: Integral of a nonnegative function] Let (X, S, 1) be a measure space. Let f : X — [0, 00| be

S-measurable. Then . .
/fdp, = sup{z w(A;j) iﬂf f:X= |_| AJ-}.
Jj=1 ! j=1

[Definition: The Lebesgue space] Let (X, S, ) be a measure space. Let f : X — [—00, 00] be S-measurable.
Then the £L'-norm of f is defined by
I£l: = [ 1Fldu
The Lebesgue space £1(u) is defined by
LY(w) = {f : f is an S-measurable function f : X — R and ||f||; < co}.

[Definition: Hardy-Littlewood maximal function] Let h: R — R be measurable. Then

1 b+t
h*(b) = sup — hl|.
() =swp5: [ I

[Definition: Product c-algebra] Let (X,S) and (Y,T) be measurable spaces. Then S ® T is the smallest
o-algebra on X x Y that contains Ax Bforall Ac Sandall Be T.

[Definition: Cross section of a set] Let X and Y be setsandlet EC X xY. If a€ X or b €Y, then the
cross sections [E], and [E]? are defined by

[Elo={y €Y :(ay)cE}, [E]°={xeX:(x b)eE}.
[Definition: Cross sections of functions] Let f: X x Y — R be a function. If a€ X and b €Y, we let
[flay) = f(a.y).  [f1°(x) =f(x. b)
forally €Y, x € X.

[Definition: Algebra] Let W be a set and let A be a set of subsets of W. We say that A is an algebra on W if:

efc A
e IfEc Athen W\ E€ A
o IfE, Fc A then EUF ¢ A.

[Definition: Monotone class] Let W be a set and let M be a set of subsets of W. We say that M is a
monotone class on W if:

e If F; C E;, C ... is an increasing sequence of sets in M then UT:1 E, e M.



e If E1 D E; D ... is a decreasing sequence of sets in M then (2, Ex € M.

5C. UNDERGRADUATE ANALYSIS

[Definition: The norm || - |] Let x = (xq,..., Xn) € R". Then ||x|| = max{|x1|, |x2|, ..., [Xn|}-
(Problem 10) Let d(x, y) = ||[x — ¥|lco. Show that (R", d) is a metric space.
[Definition: Ball] The open ball with radius ¢ is

B(x,0) ={y € R": d(x,y) < é}.

(Problem 11) Describe the set B((3,4),1) C R?, where the metric is d(x,y) = ||x — ¥|oo-

[Definition: Cube] We will let
Q(x,8) ={y € R": [[x = ylloo < &}
that is, Q(x, ) is the ball in the metric based on || - |/co-

5C. LEBESGUE INTEGRATION ON R”

[Definition: Open set] A subset G C R" is open if for all x € G, there is a § > 0 with Q(x,4) C G.

[Exercise 5C.1] Show that G C R" is open if and only if, for all x € G, there is a p > 0 with {y € R" :
Ix = yll2 < p} € G, where ||x||2 is the usual Euclidean distance in R".

[Definition: Natural identification] We identify the point ((xi, ..., Xn), (y1, - -, ¥m)) in R” x R™ with the
point (X1, ..., Xn Y1, ---,Ym) in R™T™,

(Problem 30) Show that Q(x, ) x Q(y,d) = Q((x,y),d) for all x € R" and all y € R™.

(Problem 40) Let G; C R" and G, C R™. Suppose that G; and G, are both open. Show that G; x G is also
open.

[Definition: Borel sets] The smallest o-algebra on R” containing all open subsets of R” is denoted by B,,, and
its elements are called Borel subsets of R".

(Problem 50) Let G C R". Suppose that G is the union of countably many open cubes. Show that G is open.
(Problem 60) Let G C R". Suppose that G is open. Show that G is the union of countably many open cubes.
(Problem 70) Show that B, is the smallest o-algebra containing all open cubes.

(Problem 80) Show that B+, C B, ® B,,.

(Problem 90) Show that if D € B,,, and G C R" is open, then D x G € B1p.

(Problem 100) Show that if D € B,, and E € B, then D x E € Byip.

(Problem 110) What does this tell you about B,, ® B, and B,11?

(Problem 120) Show that (B, ® B,) @ By, = Bm @ (B, ® Bp).

[Definition: Lebesgue measure] We define \; to be Lebesgue measure on By, and A, = A,—1 X Aq.
% % *

(Problem 121) Let G C R" be open. Show that {D € B,: D C G} ={DNG : D € B,} is the smallest
o-algebra on G containing all open subsets of G.

(Problem 130) Let t > 0. Let E € B,,. Show that tE € B,,.
(Problem 140) Suppose E € B, and E C Q(0, m) for some m € N. Show that A,(tE) = t"\,(E).
(Problem 150) Show that A\,(tE) = t"A,(E) even if E is unbounded.
[Definition: Open unit ball in R"] The open unit ball in R" is defined by
B,={(x1,....5%) ER": x> + -+ x,2 <1}

[Definition: 7] We define m = X»(B5).
[Exercise 5C.8] Show that B, is open.



(Problem 170) Show that if n > 3, then X,(B,) = 2ZX,_»(B,_2).
[Definition: n!l] We define 11l =1, 21l =2, and n!! = n((n—2)!1) if n € N with n > 3.

on/2,n/2
n!l

(Problem 180) Suppose that n is even. Show that A\,(B,) =

_ p(nt1)/2, (n-1)/2
- n!!

(Problem 190) Suppose that n is odd. Show that A,(B,)
"

[Definition: Partial derivatives] Let G C R? be open. Let f : G — R be a function. If (x,y) € G, then
f(x+ty)—fFf(xy , . flx,y+t)—f~f(x,y ,
(Du)x,y) = lim FEFENZICN vy, (Dar)e,y) = fim TEXFDZICN) 1y )

= lim
t—0 t t—0 t
provided the given limits (or derivatives) exist.

(Problem 200) Suppose G C R? is open. Let f : G — R be a function. Assume that D;f, D>f, D;(D5f), and
Dy(D;f) all exist and are continuous on G. Show that D;(D,f) = Do(D:f).

6A. METRIC SPACES

Please review this section.

6B. VECTOR SPACES
Please review this section.

[Definition: Measurable complex-valued function] Let (X,S) be a measurable space and let f : X — C. We
say that f is S-measurable if Re f and Im f are both S-measurable functions.

(Problem 210) Suppose that f is S-measurable and that p > 0. Show that |f|P is S-measurable.

[Definition: Integral of a complex-valued function] Let (X,S, ) be a measure space and f : X — C be

measurable. Then
/ fdp,:/ Refdp,+i/1mfdp,.
X X X

[Exercise 6B.8] If f is S-measurable, [ |f|du < 00, and a € C, then [af du =o [ fdp.
(Problem 220) Suppose that [, f du exists and is finite. Show that | [, f du| < [, |f| dp.
(Problem 221) Is this still true if [, f dy = +00?

(Problem 222) If f is measurable but [, f du does not exist, what can you say about [, |f|du?

(Problem 230) Show that [, fdu = [, fdp.
[Definition: F] We let F be either R or C.

[Definition: Subspace] A subset U of a vector space V is a subspace if it contains 0 and is closed under addition
and scalar multiplication.

[Definition: FX] Let X be a set. Let FX = {f : X — F} be the set of all functions from X to F.
(Problem 231) Show that FX is a vector space for any set X.
[Exercise 6B.9] If £ is a set of subspaces of a vector space V/, show that NycgU is a subspace.

(Problem 240) Let (X, d) be a metric space and let C(X) be the space of all continuous functions from X to F.
Show that C(X) is a subspace of FX.

(Problem 250) Let (X,S) be a measurable space. Let U = {f : X — F|f is S-measurable}. Show that U is a
subspace of FX,

(Problem 260) Let (X, S, ) be a measure space. Let U = {f : X — F|f is S-measurable, u({x : f(x) #0}) =
0}. Show that U is a subspace of FX.

(Problem 270) Let (X,S) be a measurable space. Let U = {f : X — F|f is bounded}. Show that U is a
subspace of FX|



(Problem 280) Let (X, S, ) be a measure space. Let U = {f : X — F|f is S-measurable and [, f du = 0}.
Show that U is a subspace of FX.

(Problem 290) Let (X, S, 1) be a measure space. Show that £(dy) is a subspace of FX.

(Problem 300) Let ! = £(du), where pu represents the counting measure on N. Show that £! is a subspace of
FN.

6C. UNDERGRADUATE ANALYSIS

[Definition: Norm] We say that || - || is a norm on the F-vector space V if for all f, g € V and a € F,

If] exists,

0 <||f]] < oo,

IIf|ll = 0 if and only if f =0,
lef || = la] [[£]],

I+ gll < [If]] + [lg]l

(Problem 310) Let V be a normed vector space. Let d(f,g) = ||f — g||. Show that (V, d) is a metric space.
6C. NORMED VECTOR SPACES

(Problem 320) Let £! be the space of all sequences of numbers {a,}3°; with 3 °°  |a,| < co. Let [[{an}324]1 =
> > . lan|. Show that || - || is a norm on £

(Problem 330) Let [[{a,}%21 /o0 = Supnen |an|. Show that || - |l is @ norm on £*.
(Problem 340) Show that ||f||y = [, |f] dX is not a norm on L!(R).

(Problem 350) Let C[0, 1] be the space of all continuous functions defined on [0, 1]. Show that ||f||y = [, |f| dA
is a norm on CJ[0, 1].

[Definition: Banach space] A normed vector space that is complete (as a metric space with d(x, y) = [|[x—y||)
is a Banach space.

(Problem 360) Let V be a nontrivial finite-dimensional normed vector space. Show that there exists a basis of
unit vectors.

[Exercise 6D.8] Let V be a nontrivial finite-dimensional normed vector space. Show that V' is complete. Hint:
Let {e1,... ey} be a basis of unit vectors. Show that there is a constant C < oo such that if the a,s are real
numbers, then |a;] < C|| Y} _; akex]|| for each 1 < j < n.

(Problem 390) Give an example of a vector space that is not a Banach space.

[Definition: Infinite sum] Let {gc}?>; be a sequence in a normed vector space V. If {3 ]_; gk}, is a
convergent sequence, we say that the series converges and let 3 2, gk = limp00 D,y 8k-

(Problem 430) Suppose that > 72 | [|gk|| < co. Show that {3, _; g«}2, is Cauchy.

(Problem 440) Suppose V is a Banach space and that {g«}22; C V, 302, llgkll < oo. Show that 3}, gk
converges.

[Exercise 6A.14] Any Cauchy sequence with a convergent subsequence is convergent.

(Problem 450) Let V be a normed vector space. Suppose that 3 - | g« converges whenever Y 77 ||gk| < oco.
Show that V is a Banach space.
* * *

[Definition: Linear map] Let V and W be vector spaces over F. We say that T is a linear function or linear
map from V to W if

o T VW,
e T(f+g)=T(f)+T(g) forall f, g€V,
o T(af)=aT(f)foralla e F, f V.



We often write Tf = T(f).

(Problem 451) Suppose that T, S : V — W are two linear maps. Suppose that Tf = Sf for all f € V such
that ||f|] = 1. Show that Tg = Sg for all g € V.

[Definition: Sum of linear maps] If S, T are two linear maps from V to W and a € F, then aT and S+ T
are the functions defined by

o (S+T)f =Sf+Tfforall feV,
o (aT)f = a(Tf) forall f € V.

(Problem 452) Let V and W be vector spaces over F. Show that the set of all linear functions from V to W is
also a vector space over F.

[Definition: Norm of linear maps] Let V and W be normed vector spaces over F. If T : V — W is a linear
map, then

Tl = sup{|[Tf|[: f € V, [If]| < 1}.
If ||T|| < oo, we say that T is bounded. We let B(V, W) be the set of all bounded linear maps from V to W.

(Problem 453) Recall that a (possibly nonlinear) function ¢ : X — W is usually described as bounded if
supsex |lo(f)|| < oo. Show that T is bounded as a linear map if and only if it is bounded in the usual way on
the unit ball, that is, supgrey.ri<1y [l < 00.

(Problem 454) Let T be a linear map that is bounded in the usual way on all of V, that is, || Tf|| < C < oo for
all f € V, where C is independent of f. What can you say about T7?

(Problem 455) Let T € B(V,W) and let f € V. Show that ||[Tf|lw <||T| |Ifllv.

(Problem 456) Show that the bound you found in the previous problem is the best possible (that is, there is
some sequence {f }72, C V with ||Tf|lw > Z||T| ||If]lv).

(Problem 457) Show that a linear map T : V — W is unbounded if and only if there is a sequence {f}2; CV
with ||[f]| = 1 and || T || > k.

(Problem 460) Show that B(V, W) is a normed vector space.
[Exercise 6D.7] Show that if V is finite-dimensional and T : V — W is a linear map, then T is bounded.
(Problem 470) Give me three examples of linear maps that are not bounded.
(Problem 471) Were any of your examples defined on a Banach space?
(Problem 480) Suppose that W is a Banach space. Show that B(V, W) is a Banach space.
(Problem 490) Let T : V — W be a linear map. Show that T is continuous if and only if it is bounded.
[Exercise 6C.16] Let V be a normed vector space and U C V be a subspace. Define

I + U = inf{|f + gl : g € U}.
Then || - || is a norm on V/U if and only if U is closed. If V is a Banach space and U is closed, then V/U is a
Banach space. If U and V//U are both Banach spaces, so is V.

6D. LINEAR FUNCTIONALS
[Definition: Linear functional] A linear functional on a vector space V over the field F is a linear map from V
to F.
(Problem 500) Let ¢ : £* — F be given by ¢(a1,a,...) = 4o, a. Show that ¢ is a linear functional.
(Problem 510) If ||(a1, a2, ...)|| = 302, |an|, show that ¢ is a bounded linear functional.
(Problem 520) If |[(a1, a2, . . . )| = SUP1<p<oo |2n], Show that ¢ is an unbounded linear functional.
[Definition: Null space] Let T :V — W be a linear map. Then the null space of T is

null T={feV:Tf=0}.

(Problem 530) Show that null T is a subspace of V.
(Problem 540) [null:closed] Show that if T is a bounded linear map, then null T is a closed subspace of V.



(Problem 550) Give an example of an unbounded linear map whose null space is closed.

(Problem 560) Suppose that V' is a normed vector space and ¢ : V — F is a linear functional. Show that ¢ is
continuous if and only if null ¢ is closed.

(Problem 570) Suppose that V is a normed vector space and ¢ : V — F is a linear functional. Show that if ¢
is unbounded then nullp = V.

(Problem 580) Describe all bounded linear functionals ¢ : V — F for which nullyp = V.
¥ x %

[Definition: Family] A family {ex}xer in a set X is a function e : I — X, where we write e instead of e(k).
(Compare sequences.)

[Definition: Linear dependence, span, dimension, basis] Let {e}xer be a family in a vector space V.
e {ex}ker is linearly dependent if there is some finite @ C I and a family {a;}jeq in Fsuch that 3 ;o
0 and such that aj # 0 for at least one j € €.
e span{ex}ier = {2 jcq aje : @ C T is finite, {a;}jeq is a family in F}.
o If V = span{ex }ker for some finite set [ and family {ex}ker, then we say that V is finite-dimensional.
o If V = span{extker and {ex}ier is linearly independent, we call {ex}ker a basis (or Hamel basis) for V.

ajej =

(Problem 590) Let {ex}ker be a basis for V. Let f € V. Show that we can write f as a linear combination of
basis elements in a unique way.

% &< Show

(Problem 591) Let {ex}xer be a basis for V. Let g € T and define T by T(3_.., aj¢;) = {0 ¢Q
) g .

J
that T is well defined on all of V and is a linear functional.

(Problem 600) Let e, = (0,...,0,1,0,...) € £! be the sequence with (ex); = 0 if j # k and 1 otherwise. Show
that {ex }ken is linearly independent.

(Problem 610) Show that {ex }xen is not a basis for £L.
(Problem 620) What is span{ex }xen?
(Problem 630) Is span{ex}xen a Banach space?

[Definition: Maximal element] Let V' be a set and let A be a collection of subsets of V. Let I € A. Suppose
that, if Q € A and I C Q, we have that I = Q. Then we say that I is a maximal element of A.

(Problem 640) Let A be the set of all ideals in Z, that is, {{km : m € Z} : k € Z,k > 2}. Show that
{km: m € Z} is maximal if and only if k is prime.

(Problem 650) Let V be a vector space. Let A be the set of all linearly independent subsets of V. Let [ C V
be a maximal element of A. Show that I' is a basis of V.

(Problem 660) Let Q be a basis of V. Show that Q € A and that Q is a maximal element of A.

[Definition: Chain] Let C be a collection of subsets of V. Suppose that whenever Q, I' € C we have that either
QCT orl CQ. Then we say that C is a chain.

(Problem 670) Give an example of a chain.

Zorn's Lemma. Let V be a set. Let A be a collection of subsets of V. Suppose that for every chain C with
C C A, we have that Ugecf2 € A. Then A contains a maximal element.

(Bonus Problem 680) Show that Zorn's Lemma is equivalent to the Axiom of Choice.
(Problem 690) Let V be a vector space. Use Zorn's lemma to show that V' has a basis.

(Problem 700) Let V' be an infinite-dimensional vector space. Show that there exists a discontinuous linear
functional ¢ : V — F.
* ok %k

[Exercise 6C.14a] Let V be a vector space, W a Banach space, and U C V a subspace. Let S : U — W be a
bounded linear map. Then there is a unique continuous function T : U — W such that Tf = Sf for all f € U.

[Exercise 6C.14b] T is a bounded linear map T : U — W and ||T|| = ||S].



[Definition: Span of an element] If V is a real vector space and h € V, then Rh = span{h} = {ah: o € R}.

[Definition: Sum of subspaces] Let U and Y be two subspaces of a vector space V. Then U+ Y ={u+y:
uelyeY}

(Problem 710) Show that U + Y is also a subspace of V.

(Problem 720) Suppose that UNY = {0}. Show that if f € U+ Y then there is exactly one u € U and exactly
oney € Y such that f = u+y.

(Problem 730) Let V be a real normed vector space and U C V be a subspace. Let ¢ : U — R be a bounded
linear functional and let c € R. Let h € V, h ¢ U. Define p. : U+ Rh — R by p.(f + ah) = P(f) + ac for all
f € U and all a € R. Show that ¢, is well defined and linear.

(Problem 740) Show that there is at least one ¢ € R such that ¢, is bounded and |lo.|| = ||¢]|.
[Definition: Graph] Let V and W be two sets and T : V — W be a function. The graph of T is
graph(T) ={(f. T(f)): feV}CV xW.

(Problem 741) Let E C V x W. Show that there exists a function T : V — W such that E = graph(T) if and
only if [E]r = {g € W : (f, g) € E} has exactly one element for each f € V.

(Problem 750) [subspace:graph] Suppose that V and W are two linear spaces and T : V — W. Show that if
T is a linear map, then graph(T) is a subspace of V x W.

(Problem 760) [subspace:graph:2] Suppose that V and W are two linear spaces and E is a subspace of V x W.
Suppose that for all f € V there is exactly one g € W with (f, g) € E. Show that thereis a linearmap T : V — W
with E = graph(T).

(Problem 770) Suppose that T is a linear map and ¢ € [0, 00). Show that ||T|| < c if and only if ||g|| < c||f]]
for all (f, g) € graph(T).

(Problem 780) Let U C V andlet S: U — W, T : V — W. Show that Sf = Tf for all f € U if and only if
graph(S) C graph(T).

(Problem 790) Let V be a real vector space, U C V be a subspace, and ¥ : U — R be a bounded linear

functional. Let A = {graph(¢) : ¢ is an extension of ¥ to a subspace W with U C W C V and with ||| = ||9¥]|}.
Show that A satisfies the conditions of Zorn's lemma.

(Problem 791) [Another approach] Let V be a real vector space, U be a subspace, and ¢ : U — R be a bounded
linear functional. We say that ¢ is an extension of ¥ if

e The domain W of ¢ is a subspace of V,
ucwcy,

@ : W — Ris linear,

ol < 1191l

If £ € U then o(f) = 9(f).

Let A={D CV x R: D = graph(¢) for some extension ¢ of ¥}.

(Problem 800) Show that any maximal element of A must be the graph of a functional defined on all of V.

(Problem 801) We want to show that A satisfies the conditions of Zorn's lemma. Suppose that C C A is a
chain. Let E = UqecQ2. Show that E = graph(y) for some ¢ : W — R and some W C V.

(Problem 802) Show that U C W.

(Problem 803) Show that W is a subspace of V' and that ¢ is linear. Hint: Show that this is true if and only if
E is a subspace of V x R.

(Problem 804) Show that ||| < ||¥].
(Problem 805) Show that ¢(f) = 9(f) for all f € U.

(Problem 806) [real:HB] Conclude that there exists a linear functional ¢ : V — R with ||¢| = ||| and with
o(f) =(f) forall f € U.



(Problem 810) Let U be a complex vector space and let ¢ : U — C be a linear functional. Let 93 = Re. Show
that 91 : U — R is a linear functional and that ||91| < ||9]].

(Problem 820) Let V be a complex vector space, U C V be a subspace, and ¢ : U — C be a bounded linear
functional. Let ¢; be the extension of 1 given by (806]). Show that there is a unique linear functional ¢ : V — C
with @1 = Rep and with ||| = ||¢1]|-

[Definition: Dual space] If V is a normed vector space, then the dual space is V' = B(V, F).
(Problem 830) Suppose that f € V and ¢ € V'. Show that |o(f)| < |||l ||f]]-
(Problem 840) Let V be a normed vector space and f € V. Show that there is a ¢ € V' such that ||p|| = 1 and
o(f) = lIfl.
(Problem 850) Let U be a subspace of a normed vector space V. Let h € V. Show that h € U if and only if, for
all ¢ € V' with ¢(f) =0 for all f € U, we have ¢(h) = 0.

6E. UNDERGRADUATE ANALYSIS

(Problem 860) Write the definitions of the interior of a subset of a metric space and dense subset of metric
space.

(Problem 870) Show that f € intG if and only if B(f,r) C G for some r > 0.
6E. BAIRE'S THEOREM

(Problem 880) Let € > 0. Show that there is a countable open dense subset of R with measure at most «.

(Problem 890) [Baire's Theorem] Let (V, d) be a complete metric space. Suppose that {G,}%2, is a sequence
of subsets of V. Suppose that each Gy is both dense and open. Show that (7, G is also dense.

(Problem 900) [Baire's Theorem] Let (V, d) be a complete metric space. Suppose that {F,}%2, is a sequence
of subsets of V. Suppose that each Fy is closed and has empty interior. Show that |J;~, F is not all of V.

(Problem 910) Let (V, d) be a metric space. Suppose that (V, d) is complete and has no isolated points. Prove
that V is uncountable. In particular, R is uncountable.

(Problem 920) Show that R\ Q cannot be written as a countable union of closed sets.
* % %

(Problem 930) Let V and W be Banach spaces and T : V. — W be bounded, linear, and surjective. Let
B = B(0,1) C V. Show that T(B) has a nonempty interior.

(Problem 940) Show that T(B) contains a closed ball centered at 0.

(Problem 950) Show that, if h € W, then there is a f € V with ||f|| < C||h|| and with ||h — Tf|| < &, where C
is a positive constant independent of h and «.

(Problem 960) [rightinverse] Show that, if h € W, then there is a f € V with ||f|| < 2C||h|| and with h=TT.
(Problem 970) Show that B(0, r) C T(B) for some r > 0.
(Problem 980) [Open mapping theorem] Let G C V be open. Show that T(G) is open.

(Problem 990) If T is a linear bijection, show that T~1 is linear.

(Problem 1000) [bounded:inverse] [Bounded Inverse Theorem] If T is a bounded linear bijection between
Banach spaces, show that T—1is bounded.
* k%

(Problem 1010) Let V and W be normed vector spaces. Give V x W the usual vector space structure. How
could you define a norm on V x W in terms of the norms on V and W?

(Problem 1020) Show that (fx, gk) — (f, g) if and only if fy — f and gx — g.
(Problem 1030) Show that {(fx, g«)}%>; is Cauchy if and only if {f,}?2; and {gx}%2; are Cauchy.
(Problem 1040) Suppose V and W are Banach spaces. Show that V x W is also a Banach space.



(Problem 1050) Let V and W be Banach spaces and let T : V — W be a function. Then T is a bounded linear
map if and only if graph(T) is a closed subspace of V' x W.
* k%

(Problem 1060) Let V be a Banach space and W be a normed vector space. Suppose that A C B(V,W).
Suppose that for each f € V, we have that sup{||Tf|| : T € A} < c0. Show that sup{||T||: T € A} < c0.

TA. LP(w)

[Definition: The p-norm] Let (X, S, p) be a measure space and f : X — F be a S-measurable function. If

0 < p < o0, then
1/p
1l = (/ |f|P) |
X

Ifllp = ||fllo = esssup|f| =inf{t >0:pu{x e X:|f(x)| >t} =0}
(Problem 1070) Let f and g be two S-measurable functions. If 0 < p < oo, when does ||f — g||, = 0?
(Problem 1080) When does ||f — g|loo = 07

[Definition: L£P(du)] If (X, S, u) is a measure space, then the Lebesgue space LP(un) = LP(X,S, ) = {f :
X — F|||f]lp < oo}

[Definition: £P(E)] Let E C R” be a Lebesgue or Borel measurable set. Let Sg be the set of Lebesgue or Borel

measurable subsets of E. (By Exercise 2B.11, Sg is a o-algebra on E.) Let Ar = A,|g be Lebesgue measure
restricted to E. Then LP(E) = LP(E, Se, XE).

[Definition: £°] Let u be the counting measure on N. Then ¢7 = LP(N, 2N, ).
(Problem 1090) Let f € £P(u) and let € F. Prove that af € LP(u).
(Problem 1100) Let f, g € £P(u) for some 0 < p < oo. Prove that f+g € L£P(u) (so LP(u) is a vector space).

If p = o0, then

[Exercise 7A.1] Prove that £(i) is a vector space.

[Definition: Dual exponent (conjugate exponent)] If 1 < p < oo, then p’ € [1, 0] is the unique extended
real number that satisfies % + % =1

(Problem 1110) Find 1/, o0/, 2/, 3/, 4.
(Problem 1120) [Young's inequality.] Suppose that 1 < p < 0o, a > 0, and b > 0. Show that
@ b

p P

(Problem 1130) [H&lder's inequality] Let (X, S, ) be a measure space, 1 < p < o0, and f, h: X — F be
S-measurable. Show that ||fhl|1 < ||f]pllAlly-

[Exercise 7A.4] Holder's inequality is also true if p=1 or p = 0.

(Problem 1140) Suppose that u(X) < oo and that 0 < p < g < co. Show that £9(u) C LP(w). What can you
say about ||f]|, in terms of ||f||47?

(Problem 1150) Suppose that u(X) < oo and that 0 < p < co. Show that £*(u) C L£P(r). What can you
say about ||f]|, in terms of ||f]|o?

(Problem 1160) Let X = (0,1) and let 0 < p < g < o0. Give an example of a function f € LP(X\) \ LI(}),
where A denotes Lebesgue measure.

[Exercise 7A.10] Let 0 < p < g < oco. Then £P C £9 and ||a||, > ||a||4 for all sequences a € £P.
[Exercise 7A.14] If 0 < p < g < o0, then LP(R) € LI(R) and also L9(R) Z LP(R).

(Problem 1170) [Holder:reverse] Let (X, S, ) be a measure space and let £ : X — F be S-measurable. Let
1 < p < o0. Show that

IFllo = sup{’/fhdp,‘ che £ (), (bl < 1}_



(Problem 1180) Let X = {b} and u(0) =0, u(X) = co0. If f : X — F is a function, what is ||f||e and ||f]|,

for p < c0?
hll: < 1}

[Exercise 7A.9] Recall that a measure space (X, S, 1) is o-finite if there is a sequence of sets {X,}32, C S
with o(Xx) < oo for all k and X = U Xy. If (X, S, p) is o-finite, then for all S-measurable functions f : X — F,

[ flloo = sup{‘/fhdu,‘ the LYw), |[hll < 1}_

(Problem 1190) Is it necessarily true that

1Flloe =sup{‘/fhdu' he L), |

for all S-measurable functions f : X — F?

(Problem 1200) [Minkowski's inequality] Let (X, S, ) be a measure space, 1 < p < o0, and f, g € LP(u).
Show that [|f + gll, < [|f]l, + [lg]lp-

(Problem 1210) Let (X, S, 1) be a measure space and f, g € L>(u). Show that ||f + glleo < ||flloo + 1/&]]co-

(Problem 1220) Let 0 < p < 1. Suppose that (X, S, 1) is a measure space and that S contains two disjoint
sets with finite positive measure. Show that Minkowski's inequality fails.

(Problem 1230) Suppose 1 < p < oo. When is || - ||, a norm on £P(u)?
78. LP(k)
(Problem 1240) Let (X, S, ) be a measure space and let 0 < p < oco. Suppose we define ~ by f ~ g if
IIf — gllp = 0. Show that ~ is an equivalence relation on LP(u).
(Problem 1250) Suppose that f € LP(u) and f ~ g. Show that g € LP(u).
(Problem 1260) Show that if f ~ g then ||f]|, = ||g]l,-
(Problem 1270) Show that if f ~ g and a € F then af ~ ag.
(Problem 1280) Show that if f ~ F and g ~ G then f + g ~ F + G.
[Definition: LP(u)] Let (X, S, ) be a measure space and let 0 < p < oco0. If f € LP(u), let
f={gecLl(n):If-gl,=0}
Let LP(u) = {F: f € LP(w)}. Let |Fll, = 7],
(Problem 1290) Show that LP(u) is a normed vector space.

[Definition: LP(E)] Let E C R” be a Lebesgue or Borel measurable set. Let Sg be the set of Lebesgue or Borel
measurable subsets of E. (By Exercise 2B.11, Sg is a o-algebra on E.) Let Ar = A,|g be Lebesgue measure
restricted to E. Then LP(E) = LP(E, Sk, Ag).

(Problem 1300) Let (X, S, p) be a measure space and 1 < p < co. Why can't we talk about Cauchy sequences
in LP(n)?
(Problem 1310) Let 1 < p < oo and let {fi}2>, C LP(u). Suppose that for every € > 0 there is a n € N such

that if j, k > n then ||fj — fi|| < €. Suppose that there is a subsequence {f;,}%2; and a f € LP(u) such that
Ilfi, — fllp = 0. Show that ||fx — f||, — 0.

(Problem 1320) Let 1 < p < o0 and let {f}%2, C LP(u). Suppose that for every € > 0 there is a n € N such
that if j, kK > n then ||f; — fi|| < €. Show that there is a f € LP(u) such that ||fx — f||, — 0, and a subsequence
{fi, }32; converges to f pointwise a.e.

[Exercise 7B.8] Prove the above result if p = 0.

(Bonus Problem 1321) Give an example of a convergent sequence in LP(u) with representatives that do not
converge pointwise anywhere.

(Problem 1330) Show that LP(u) is a Banach space.



(Problem 1340) Let 1 < p < co. Let h € LP (). Define ¢y : LP(u) — F by ¢p(F) = J fhdu. Show that ¢ is
well defined.

(Problem 1341) Show that ¢4 € (LP(r))" and that ||¢s|| < ||hl|y-
(Problem 1350) Show that if p > 1 or (X, S, u) is o-finite, then ||¢n|| = |||
(Problem 1360) Let g, h € LP(u). Show that ¢, = ¢4 if and only if g ~ h.

(Problem 1370) Suppose 1 < p < co0. Show that b — ¢, is an isomorphism - (£P)'. [We will see in Chapter
9 that b — ¢y, is an isomorphism LP (1) — (LP(w))’ for more general measure spaces.]

[Exercise 6D.14] There is a linear functional ¢ € (£°) such that ¢(a1, az,...) = limk_00 ax Whenever the
limit exists.

(Problem 1380) Let ¢ be the functional in Exercise 6D.14. Show that ¢ # ¢y, for all b € £1.
[Exercise 7B.15] Let ¢g = {(a1,a2,...) € £*° : limk_o0 ax = 0}. Then ¢ is a Banach space and (¢)’ can be
identified with £1.

8A. UNDERGRADUATE MATHEMATICS

[Definition: Dot product] The dot product on R” is given by f-g=I(fg) = > hoq fk8k.
(Problem 1390) Write the standard Euclidean norm on R” in terms of the dot product.
(Problem 1391) What is (1, 1) - (1,1)?

[Definition: Inner product] The standard inner product on C" is given by (f,g) = > |_; fig«.

8A. INNER PRODUCT SPACES

[Definition: Inner product] Let V be a vector space. Then (,) :V x V — F is an inner product if
(f,f) €[0,00) for all f €V,

(f,fy =0if and only if f = 0.

(f.g) = (g.f) forall f, g eV,

If g € V then the function ¢ : V — F given by ¢(f) = (f, g) is linear.

(Problem 1400) Show that

o (fg+h =(fg)+(f h)forall f, g, heV,
e (fag) =a(f,g) foralla e Fand all f, g €V,
e (0,8)=(g,0)=0forallgecV.

[Definition: Norm associated to an inner product] Let V be an inner product space. The associated norm
is [|[f]| = +/(f, ).

(Problem 1410) Show that this norm is homogeneous and positive definite. (That is, prove all the norm axioms
except the triangle inequality.)

(Problem 1420) Let (X, S, 1) be a measure space. Write down an inner product on L?(p) such that the inner
product norm coincides with the L2(u) norm.

(Problem 1430) Write down an inner product on €2 such that the inner product norm coincides with the £2
norm.

[Exercise 8A.21a] If p # 2, then there is no inner product on £P such that the inner product norm coincides
with the £P norm.

[Exercise 8A.21b] If p # 2, then there is no inner product on LP(R) such that the inner product norm coincides
with the LP(R) norm.

[Definition: Orthogonal] If f, g are elements of an inner product space, we say they are orthogonal if (f, g) = 0.
(Problem 1440) Prove the Pythagorean theorem: if (f, g) = 0 then ||f + g||> = ||f||? + ||lg]|.

(Problem 1450) Let g € V and let gt = {h € V : (g, h) = 0} be the set of orthogonal vectors to g. Show that

g+ is a subspace of V.



(Problem 1460) Show that V = g+ + Fg.

(Problem 1470) Prove the Cauchy-Schwarz inequality: if f, g € V then [(f, g)| < ||f]||/lg]| with equality if and
only if f and g are linearly dependent.

(Problem 1480) Prove the triangle inequality for the norm associated to an inner product. Conclude that this is
in fact a norm.

8B. HILBERT SPACES

[Definition: Hilbert space] A Hilbert space is an inner product space that is a Banach space under the norm
determined by the inner product.

(Problem 1600) Show that L?() is a Hilbert space.

(Problem 1620) Let C[0, 1] C L2(\) be the subspace of continuous functions. Show that C[0, 1] is not a Hilbert
space.

(Problem 1630) Recall that £* C £2. Equip £! with the inner product in £2. Show that £* is not a Hilbert space.
8B. UNDERGRADUATE ANALYSIS

[Definition: Distance] Let V be a metric space, f € V, U C V. Then dist(f,U) = inf{d(f, g) : g € U}.

(Problem 1490) Suppose that U is compact. Show that dist(f, U) = min{d(f, g) : g € U} (that is, there is
some g € U with dist(f,U) = d(f, g)).

(Problem 1500) Suppose that V = R and that U C V is closed. Show that dist(f, U) = min{d(f,g) : g € U}
(that is, there is some g € U with dist(f, U) = d(f, g)).

(Problem 1510) [dist:subtract] Suppose that V is a vector space, f € V, U C V. Show that dist(f,U) =
dist(0,{g — f : g € U}).
8B. ORTHOGONALITY

[Definition: Convex] Let V be a vector space and let U C V. We say that U is convex if, for all f, g € U and
all t € [0, 1] we have that the point tf + (1 — t)g is also in U.

(Problem 1520) Let V = R?. Draw {tf + (1 —t)g: t € [0,1]}.
(Problem 1530) Show that every subspace U of V is convex.
[Exercise 8B.5] Any open ball B(f,r) is convex.

(Problem 1531) Let V be a Hilbert space, f € V, and let U C V be nonempty, closed, and convex. Show that
if g, h € U then
g — bl <2|lg — >+ 2||h — f]|* — 4dist(f, U)*.

(Problem 1650) Let V be a Hilbert space, f € V, and let U C V be nonempty, closed, and convex. Show that
there is a g € U with ||f — g|| = dist(f, U).
(Problem 1660) Show that g is unique.

[Exercise 8B.12] There is a nonempty closed but not convex subset U of £2 and an a € £2 such that |la — b|| >
dist(a, U) for all b € U.

[Exercise 8B.13] There is a finite-dimensional Banach space V, a f € V, and a nonempty closed convex subset
U of V with dist(f, U) = ||f — g|| for infinitely many g € U.

(Problem 1550) Let V = CI[0, 1] with norm |[g|| = supp 47 [g|- By Example 6.38, V' is a Banach space. Let
1
Ulz{gEC[O,l]:/ g=0}, U ={geCl0,1]:g(1)=0}
0

Show that U; and U, are closed.
(Problem 1560) Show that U, U,, and Uy N U, are convex.



(Problem 1570) Let f(x) = 1 — x. Show that dist(f,U;) = 1/2 and that there is a unique g € U; with
d(f,g)=1/2.

(Problem 1580) Show that d(f,g) > 1/2 for all g € U; N V5.

(Problem 1590) Show that dist(f, U; N Uz) = 1/2.

[Definition: Projection] Let V be a Hilbert space and U C V be nonempty, closed, and convex. We define Py
by Puf = g if g € U and ||f — g|| = dist(f, V).

(Problem 1670) Let g € V. Find Pr,.
(Problem 1680) Let U = B(0,1) = {f € V : ||f|| < 1}. Find Py.

(Problem 1690) Let V be a Hilbert space and let U C V be a closed convex subset. Show that Pyf = f if and
only if f € U.

(Problem 1700) Show that Py o Py = Py.
(Problem 1710) Suppose in addition that U is a subspace. Show that f — Pyf is orthogonal to g for all g € U.

(Problem 1720) Prove the converse to the above result: if h € U and f — h is orthogonal to g for all g € U
then h = Pyf.

(Problem 1730) Show Py is a linear map.
[Exercise 8B.15] ||Py| <1, and if |Pyf|| = ||f]|| then f € U.

(Bonus Problem 1740) Let V be a Hilbert space over R and let U C V be a closed convex set. Suppose that
0 € U. Show that ||Pyf| < ||f]| for all f € V.

* * *
[Definition: Orthogonal complement] Let V' be an inner product space and let U C V. Then
Ut={heV:{(g h) =0forall gc U}

(Problem 1750) Let V = R? and let U = {(3,1)}. What is U+?
(Problem 1760) Show that U~ is closed.

(Problem 1770) Show that U~ is a subspace of V.

(Problem 1780) [U:perpperp] Show that U C (U*)*.
(Problem 1790) Show that U C (U+)*.

(Problem 1800) Show that spanU C (U+)*.

(Problem 1810) [perpcapperp] Show that U N U+ C {0}.
(Problem 1820) Show that if W C U, then U+ Cc W+,

(Problem 1830) [closureperp] Show that U™ = U = ((UL)1)L.

roblem uppose that V' is a Hilbert space and that U Is a subspace. ow that U = .
Probl 1840) S hat V is a Hilb d that Ui b Sh hat U uh)t
(Problem 1850) Let U be a subspace of a Hilbert space V. Show that U =V if and only if U+ = 0.

(Problem 1860) Let U be a closed subspace of a Hilbert space V. Let f € V. Show that there is a unique g € U
and a unique h € U+ with f = g + h.

(Problem 1870) Let U be a closed subspace of a Hilbert space V. Show that the range of Py is U.
(Problem 1880) Show that the nullspace of Py is U-.

(Problem 1890) Show that Py + Py. = I, where I : V — V is the identity map.
* % %

(Problem 1900) Let V be an inner product space and let g, h € V. Suppose that (f,g) = (f, h) for all f € V.
Show that g = h.

(Problem 1910) Let V be an inner product space, let g € V, and let ¢(f) = (f,g). Show that ¢ : V — F is a
bounded linear functional and that ||| = ||g]|-



(Problem 1920) [The Riesz representation theorem.] Let V' be a Hilbert space and let ¢ : V — F be a bounded
linear functional. Show that there is a unique h € V such that ¢(f) = (f, h) for all f € V.

8C. ORTHONORMAL BASES

[Definition: Orthonormal family] A family {ex}«er in an inner product space is an orthonormal family if

= {0 074

(Problem 1930) Let ' be a nonempty set and let u denote the counting measureon I'. If k € [, let e : T — F
be given by ex(k) = 1 and ex(j) = 0 if j # k. Show that {ex}«er is an orthonormal family in L2(u).

[Exercise 8C.1] Let ex(t) = ﬁ sin(kt) if k >0, e(t) = \/% ex(t) = ﬁ cos(kt) if k < 0. Then {ex}kez is
an orthonormal family in L2((—, 7]).

(Problem 1940) Let
1, 2kx| odd,
&) = {1, t2kxj even.
Show that {ex}ken, is an orthonormal family in L2([0, 1)).
(Problem 1950) Let
1, m<x<m+1and [2x] odd,
emk(x) =14 -1, m<x<m+1and [2¢x] even,
0, x<morx>m+1.
Show that {em k}(m k)ezxN, is an orthonormal family.
(Problem 1960) [finite:orthonormal] Suppose that Q is a finite set and {e;}jcq is an orthonormal family. Show
that || 3 ;cq @jell” = ¥ jcq |ajf* for every family {a;}jcq in F.

[Definition: Unordered sum] Let {f;}xer be a family in a vector space V. The unordered sum 3, fx
converges if there is a g € V such that for every £ > 0, there is a finite subset Q C I such that

o= 3o <
jes
whenever Q C Q' C T and €' is finite. In this case we write g = 3 f;.

[Exercise 8C.2] If {ay}ker is a family in R, and ax > 0 for all k, then ) | oy = SUP{ZJ-EQ a:QCr

finite} in the sense that the sum on the left converges if and only if the supremum on the right is finite, and if
the supremum is finite then the sum converges to the supremum.

[Exercise 8C.6] If {c}ier is a family in R, then Y, - ax converges if and only if 3, - |ak| < oo.
(Problem 1970) Let {ex}«ker be an orthonormal family in a Hilbert space V. Let {ax}ker be a family in F.

2
Suppose that 3, . ake, converges. Show that Y, . |ou|* < 00 and that 3, ou|? < ‘Zker akek‘ :

(Problem 1980) [ell2:converge] Let {ex}ker be an orthonormal family in a Hilbert space V. Let {ok}ker

be a family in F. Suppose that Y, [ax|> < co. Show that >, r axex converges and that Y, [ax|* >
2

’Zker akek‘

(Problem 1981) [e:summand] Let {a }xer be a family in Fwith 3, 1 [ak[? < 0o. Show that (3, . akex, &) =

aj forall jeT.

(Problem 1990) Let {o}ier and {Bi}ier be two families in F with 3, . [a]? < 00, 3 r |Bi|* < o0, and
with 3, crakex =, cr Brek. Show that oy = By for all k.



(Problem 1991) [sum:linear] Let y € F and let {ov }xer and {Bi}xer be two families in F with 3, . |a|* < o0,
Y «er IBk|? < 0o. Show that

> ok + Bil* < o0,
ker
Z [yau|* < oo,
ker
> (aw+Bi)ex = (Z oekek) + (Z ﬁkek),
ker ker kel
Z('Yak)ek = ’Y(Z Otkek)-
ker ker

(Problem 2000) Let {ex}xcn be an orthonormal family. Show that 3, .\ £ex converges and that 3, .\ |15 &x|l
diverges.

(Problem 2010) Let {ex}ker be an orthonormal family in an inner product space V. Let f € V. Show that if
Q C T is finite, then 3, (f, &)¢; is orthogonal to f — 3 . o (f, &)e;.
(Problem 2020) [Bessel's inequality.] Show that ||f[|> > 3" [(f, &)[* for all Q C T finite.

(Problem 2030) Let {ex}ker be an orthonormal family in a Hilbert space V. Let {o }xer be a family in F with
Y ier lou® < 0o. Show that Y, .- axex € span{ex buer-

(Problem 2040) [finbasis] Let f € span{ex}ker. Show that f =)

ier(fiej)e and that 3, |(f, &)]? < oo.

J
[Definition: Orthonormal basis] An orthonormal family {ex}«er in a Hilbert space V is an orthonormal basis
of V if span{ex}ker = V.
[Exercise 8C.9] Let V be an infinite-dimensional Hilbert space. Let B C V' be a Hamel basis, that is, a basis in
the sense of Definition 6.54. Then B is not an orthonormal set, and therefore is not an orthonormal basis of V.
[Exercise 8C.10] Let

1, m<x<m+1and [2*x] odd,

emk(x) =4 -1, m<x<m+1and [2%x]| even,

0, x<morx>m+1.

Then {em,k}(m k)ezxN, is an orthonormal basis of L?(R).

(Problem 2050) [parseval] Let {ex}ker be an orthonormal basis of a Hilbert space V. Let f € V. Show that
f =3 er(fien)ex and that [[f||> =3, o [(f, &) *.

(Problem 2060) [parseval:product] Let {ex}ker be an orthonormal basis of a real Hilbert space V. Let f,
g € V. Show that (f,g) =3, (f, ex) (ex., &)

(Bonus Problem 2061) Let {ex}xer be an orthonormal basis of a complex Hilbert space V. Let f, g € V. Show
that (f,g) =3 ,cr(f. ex) (ex, 8)-

ok X
[Definition: Separable] A metric space is separable if it has a countable dense subset.
(Problem 2070) Show that R® is separable.

(Problem 2080) Show that £? is separable.

(Problem 2090) Show that £*° is not separable.

(Problem 2100) Let I' be an uncountable set and let p : [ — [0, o0] be the counting measure. Show that
L2(u) = £2(T) is not separable.

[Exercise 8C.13] L2([0,1]) and L?(R) are separable.

(Problem 2110) Let V be a separable Hilbert space. Without using the Axiom of Choice or Zorn's lemma, show
that V has an orthonormal basis.



(Problem 2120) Let U be a closed subspace of a Hilbert space V and let {ex}«er be an orthonormal basis of U.
Show that Pyf =Y, (f, ex)ex.

[Definition: Orthonormal subset] Let V be an inner product space and U C V. If ||f|| =1 and (f,g) = 0 for
all f, g € U with f # g, we say that U is an orthonormal subset.

(Problem 2130) Let V be a Hilbert space. Let A = {U C V : U is orthonormal}. Suppose that U € A is
maximal. Show that U is an orthonormal basis for V.

(Problem 2140) Let U C V be an orthonormal basis. Show that U € A is a maximal element.

(Problem 2150) Use Zorn's lemma to show that A has a maximal element. What is the maximal element?
* k%

(Problem 2160) Let V be a Hilbert space and let ¢ : V — F be a bounded linear functional. Let {e;};cr be an
orthonormal basis for V. Show that 3 ;- lp(e)|? < .

(Problem 2170) By Problem (1980), the sum ), - ¢(ex)ex converges. Let h = 3 , - p(ex)ex. Show that
(f,h) = ¢(f) for all f € V.

(Problem 2180) Show that || h|| = ||¢]||. (This provides an alternative proof of the Riesz representation theorem.)
9A. TOTAL VARIATION

[Definition: (Positive) measure] Let X be a set. Let S be a o-algebra on X. We say that p is a (positive)
measure on (X, S) and (X, S, ) is a measure space if:

e 1u:S— 0,00,
o pu(0) < oo,
o If {E,}7°, C S is a sequence of pairwise-disjoint subsets of X then y.(Uzo:l Ek> =Y 72 w(Ex).

(Problem 2181) Show that the condition u(@) < co and additive summability imply that w(0) = 0.

[Definition: Real or complex measure] Let X be a set. Let S be a o-algebra on X. We say that v is a real
(or complex) measure on (X, S) if:

e v:S—R(orp:S—C),
o If {E,}%2, C S is a sequence of pairwise-disjoint subsets of X then U(Uf’:l Ek) =3 o, v(Ek).

(Problem 2190) Let v be a real or complex measure. Show that v(@) = 0.
(Problem 2200) If u is a (positive) measure, under what circumstances is p also a real measure?
(Problem 2210) Suppose v is a complex measure. Show that v and Sv are real measures.

(Problem 2220) [measure:finite] Let {E,}%2; C S be a sequence of pairwise-disjoint subsets of X. Show that
>t W(Ei)| < oo
(Problem 2230) Let p be a (positive) measure on a measurable space (X, S) and let h € £L(p). Define

v(E) = / hdp.
E
Show that v is a real or complex measure on (X, S). We call this measure dv = hdp.

(Problem 2240) Let v be a complex measure on a measurable space (X,S). Show that if D, E € S then
v(DUE)=v(D)+v(E)—v(DNE).

(Problem 2250) Show that if D C E then v(E \ D) = v(E) \ v(D).

(Problem 2260) [measure:limit:cup] Show that if {E,}3°; C S and Ex C Exiy then v (U2, Ex) =
|imkﬂoo I/(Ek).



(Problem 2270) [measure:limit:cap] Show that if {E,}32; C S and Ex D Eyxq1 then v (N2, Ex) =
Iimk_)oo U(Ek).

[Definition: Total variation] Let v be a complex measure on a measurable space (X, S). If E € S, define

W|(E) = sup{z W(EQ)| Ex €S, neN, EjCE ENEc=0ifj# k}.
k=1

(Problem 2271) Show that

n (o]
W|(E) = sup{ V()| ExeS, neN, | JEx=E ENE =0ifj# k}.
k=1 k=1

[Exercise 9A.4]
W|(E) = sup{z W(Ex)| - Ex €S, | JEx=E ENE=0ifj# k}.
k=1 k=1

(Problem 2280) Show that if E € S then |v(E)| < |v|(E).
(Problem 2290) [variation:inclusion] Show that if D C E and D, E € S then |v|(D) < |v|(E).
(Problem 2300) [variation:positive] Show that if v is a (positive) measure then |v| = v.
(Problem 2310) Show that if |v|(E) = 0 then ¥(A) =0 for all AC E.
(Problem 2320) [variation:zero] Show that if ¥(A) = 0 for all A C E then |v|(E) = 0.
(Problem 2330) [real:variation:pm] Show that if v is a real measure, then

W|(E) = sup{v(A) —v(B): AB€S, AUBC E, AnB =0}.

(Problem 2340) [variation:integral] Let p be a (positive) measure on a measurable space (X,S) and let
h e LY(p). Let dv = hdu. Show that

vI(E) = [ Ihld
E
(Problem 2350) Let v be a complex measure on a measurable space (X,S) and let D, E € S with DN E = 0.
Show that |v|(D U E) = |v|(D) + |v|(E).

(Problem 2360) Let v be a real measure on a measurable space (X, S). Show that |v| is a (positive) measure
on (X, S).

(Problem 2370) Let v be a complex measure on a measurable space (X, S). Show that |v| is a (positive) measure
on (X, S).

(Problem 2380) Show that if v is a real measure on (X, S) then |v|(X) < .

(Problem 2390) [variation:finite] Let v be a complex measure on a measurable space (X,S). Show that
[V|(E) < |Rv|(E) + |Sv|(E) and, in particular, |v|(X) < oco.

[Definition: Sum of measures] Let p and v be complex measures on a measurable space (X,S). Let o € F.
Define

(b +v)(E) = w(E) + v(E), (av)(E) = a(v(E)).
(Problem 2400) Show that p + v and av are complex measures.

[Definition: Space of measures] Let (X, S) be a measurable space. Then Mg(S) denotes the vector space of
real measures on (X, S), and Mc(S) denotes the vector space of complex measures on (X, S).

(Problem 2410) Verify that Mg(S) is a vector space.

[Definition: Norm of measures] If v is a real or complex measure on (X, S) then |v|| = |v|(X).
(Problem 2420) Show that if v € Mg(S) then |lv|| < oo.

(Problem 2430) Show that Mg(S) is a normed vector space.



(Problem 2440) Show that Mg(S) is a Banach space.

9B. DECOMPOSITION THEOREMS

(Problem 2450) Let v be a real measure on a measurable space (X, S). Show that there exists an A € S such
that v(A) = sup{v(E) : E € S}.

(Problem 2460) [hahn] [The Hahn decomposition.] Show that there exist sets A, B € S such that

AUB =X,

ANB =0,

v(E) >0 for all E € S with E C A,
v(E) <0 forall E €S with E C B.

(Problem 2470) Give an example in which A and B are not unique.

[Exercise 9B.1] The Hahn decomposition is almost unique in the sense that, if A, B and A’, B’ satisfy the
conditions of Problem (246Q)), then |v|(A\ A") = [v|(A"\ A) = [v|(B\ B') = |[v|(B'\ B) = 0.

[Definition: Singular measures] If v and p are two complex or positive measures on a measure space (X, S),
then v L p (or v and p are mutually singular) if there are two sets A, B € S with X = AUB, 0 = AN B, and
v(E)=v(ANE)and p(E) =u(BNE)forall EcS.

[Exercise 9B.2] Let (X,S,u) be a measure space and let f, g € £L1(u). Then gdu L fdu if and only if
p{xe X :f(x)#A0tNn{x e X :g(x)#0})=0.
(Problem 2480) Give an example of two nonzero measures that are mutually singular.

(Problem 2490) Let v be a real measure on (X, S). Show that there are two finite (positive) measures v* on
(X,8) such that v* L v~ and v =vt — v~

(Problem 2500) Show that if v* are finite (positive) measures, v* L v~, and v = v —v~, then |v| = v + 1.

(Problem 2510) Let v be a real measure on (X,S). Show that there is exactly one pair of mutually singular
finite (positive) measures v* with v = v — v~
x %

[Definition: Absolutely continuous] Let v be a complex measure on a measurable space (X, S) and let u be
a (positive) measure on (X, S). Suppose that v(E) = 0 for all E € S such that u(E) = 0. Then we say that
v < u, or v is absolutely continuous with respect to w.

(Problem 2520) Let h € £(p). Show that hdu < p.

(Problem 2530) If v is a real measure, show that v* < |v|.

(Problem 2540) If v is a complex measure, show that v < |v|.

(Problem 2550) If v is a complex measure, show that Rv < |v| and Sv < |v|.

(Problem 2570) If v is any measure on (X,S) and p is the counting measure on X, show that v < p.

[Exercise 8B.10] If v is a complex measure on (X,S) and p is a (positive) measure on (X, S), then v < p if
and only if [v] < p.

(Problem 2580) Let p be a (positive) measure on (X, S). Suppose that v is a complex measure on (X, S) and
that both v <« w and v L u. Show that v(E) =0 for all E € S.

(Problem 2590) [The Lebesgue decomposition theorem] Let o be a (positive) measure on a measurable space
(X,S). Let v be a finite positive, real, or complex measure on (X,S). Show that there are two finite positive,
real, or complex measures v, and vs on (X, S) such that

e UV =1V,4 Vs,

o vy | p,

o 1, K L.



(Problem 2600) Show that v, and vs are unique.
* k%

(Problem 2610) [The Radon-Nikodym Theorem] Let (X, S, 1) be a measure space. Suppose that u(X) < oo.
Let v be another finite (positive) measure on (X, S). Suppose that v < w. Show that there is a h € £1(u) with
h > 0 such that v = hdu.

(Problem 2620) Let (X,S, 1) be a measure space. Suppose that p is a o-finite measure. Let v be a finite
(positive) measure on (X,S). Suppose that v < p. Show that there is a h € L£L}(n) with h > 0 such that
v=hdpu.

(Problem 2630) Let (X, S, 1) be a measure space. Suppose that y is a o-finite measure. Let v be a real measure
on (X,S). Suppose that v < u. Show that there is a h € £L(u) with h real-valued such that v = hdu.

(Problem 2640) Let (X, S, ) be a measure space. Suppose that  is a o-finite measure. Let v be a complex
measure on (X, S). Suppose that v < p. Show that there is a h € £1(u) such that v = hdpu.

(Problem 2650) Suppose that v is a complex measure. Show that dv = hd|v| for some h with |h(x)| = 1 for
all x € X.

(Problem 2660) Suppose that v is a real measure. Show that dv = hd|v| for some h with h(x) = £1 for all
x € X.
L S

(Problem 2670) Suppose that (X, S, ) is a measure space, that p(X) < oo, and that 1 < p < oo0. For each
he LP (u), define

on(F) = / Fhdp.

Recall from Section 7B that ¢4, is a bounded linear functional on LP(u), that ||¢s|| = ||h||, and in particular
¢g = ¢n if and only if g = h (as elements of LP (1), not £P'(u)). Suppose ¢ € (LP(w))'. Show that ¢ = ¢y, for
some h € LP ().

(Problem 2680) Suppose that (X, S, p) is a measure space, 1 < p < o0, and ¢ € (LP(u))’. Suppose that E € S.
Define Se ={D € § : D C E}, ug = plse, and if f € LP(ug) let ¢pe(f) = ¢(1ef), where 1gf(x) = f(x) if
x € E and 0 otherwise. Show that ¢g € (LP(ug))’ and that ||¢el| < |4l

(Problem 2690) Suppose ¢ € (LP(i))’. Show that ¢ = ¢, for some h € LP (), even if u(X) = co.
[Exercise 9B.15] This is still true if p = 1 under the additional assumption that p is o-finite.
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